==
N = 0l & AFSY & Al A
A HERCADSERC
HEH: K& Jsd HETA XA
Crelr CAITHM A3 Y A2 25 CERE))
2A -2 (EAH) - MRAY - BES 0f] Ak JEH HnsZ
AXCADESFIH 11,756,802 8,284,566 3,472,236
= 59,900 0 59,800
= 4,510,000 2,510,000 2,000,000
Al 818,000 801,600 16,400
2 6,368,902 4,972,966 1,395,936
K& Dbsdt B3XTA 2Y 9,331,472 6,024,152 3,307,320
= 4,510,000 2,510,000 2,000,000
Al 782,100 777,600 4,500
T 4,039,372 2,736,552 1,302,820
CAITHA sa8 U Hak 25 9,331,472 6,024, 152 3,307,320
= 4,510,000 2,510,000 2,000,000
Al 782,100 777,800 4,500
- 4,039,372 2,736,552 1,302,820
G AL TH A b2 5 1,991,310 791,310 1,200,000
401 Al H| YL S HH| 1,700,000 500,000 1,200,000
01 Al 1,700,000 500,000 1,200,000
O UDE 28 TAIHAM S2HE XAAY
Z & 1,700,000,000 1,700,000 500,000 1,200,000
IISZEH ALUSAL(BEZAIY) 4,500 0 4,500
Al 4,500 0 4,500
307 2i2t0| & 4,500 0 4,500
Al 4,500 0 4,500
02 QIZHA A AL R &= 4,500 0 4,500
O LISESH I2UIJIAMA 4,500 0 4,500
Al 4,500 0 4,500
CA HEQD SRMUE 2T TA =S (HE M) 6,265,000 4,265,000 2,000,000
BERAE)
z2 4,360,000 2,360,000 2,000,000
Al 500,000 500,000 0
2 1,405,000 1,405,000 0
401 Al & H| LR HH| 5,603,690 3,603,690 2,000,000
= 4,288,500 2,288,500 2,000,000
Al 500,000 500,000 0
2 815,190 815,190 0
01 Al&H] 5,603,690 3,603,690 2,000,000
O 5529 SEEAY HEAE 2A
23 5,603,690,000 5,603,690 3,603,690 2,000,000
= 4,288,500 2,288,500 2,000,000
Al 500,000 500,000 0
2 815,190 815,190 0
CAIKHA GIHIAIS (EZALY) 495,820 393,000 102,820
= 150,000 150,000 0
Al 75,000 75,000 0
T 270,820 168,000 102,820
401 Al H| LS OHY 328,820 243,000 85,820
= 75,000 75,000 0
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SN BESADSSEE
Ha: X% Obss AEEA X4
H 3 =] Eék

Gl SAINY 243 # A2 23 (el &)
. GA(SA) - MEAY - B Ofl &+ 24 NEH e
Al 37,500 37,500 0
- 216,320 130,500 85,820
01 Al& | 328,820 243,000 85,820
O 25 UFHoIgHH =4
& E 328,820,000 328,820 243,000 85,820
= 75,000 75,000 0
Al 37,500 37,500 0
- 216,320 130,500 85,820
405 XHAFFE S 17,000 0 17,000
01 At ESH =) 17,000 0 17,000
O == ARHOIE de HIE F 17,000 0 17,000
— £ It 1,500,000 * 24! 3,000 0 3,000
—HaJIR(AHAE, ETHOIE &)
2,000,000 = 14! 2,000 0 2,000
—FEIR(AE, 2T §) 2,000,000 * 14 2,000 0 2,000
—JHE(TV, HED &) 3,000,000 = 124 3,000 0 3,000
—=201& 7,000,000 = 14 7,000 0 7,000
St N=EEH 248 2,360,248 2,178,376 181,872
= 59,900 0 59,900
Al 35,900 24,000 11,900
- 2,264,448 2,154,376 110,072
Hug M\ 2,360,248 2,178,376 181,872
= 59,800 0 59,900
Al 35,900 24,000 11,900
- 2,264,448 2,154,376 110,072
Byslg 2HEs 29 41,500 35,000 6,500
201 €BrE2 g 40,500 34,000 6,500
03 #AI2 &SI 40,500 34,000 6,500
O gsgls Basts 2ysl &t 6,500 0 6,500
dol2oine XML (EBEAMY) 19,900 10,000 9,800
= 9,900 0 9,900
- 10,000 10,000 0
307 gI2rol A 19,900 10,000 9,900
= 9,800 0 9,800
- 10,000 10,000 0
02 B HMEEE 19,900 10,000 8,900
O HoEdins XNAMg & 19,800,000 19,900 10,000 9,900
= 9,900 0 9,800
- 10,000 10,000 0
HONQ! HMESTA 2E(EXZAY) 80,000 0 80,000
= 50,000 0 50,000
T 30,000 0 30,000
201 der24dl 80,000 0 80,000
= 50,000 0 50,000
- 30,000 0 30,000
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2A:
R
<

=R

HECADSEIE
TMSED NRE
DS WE

SA BB GR(EA) - HRAY - BES 0l &k 24 Il HmE2
01 At 22l bl 80,000 0 80,000
O TOHQ TS JYRE BUHY ZA
5,000,000 * 18] 5,000 0 5,000
2 5,000 0 5,000
O ZOYQ wEY T2 29
1,720,000 * 250 243t 43,000 0 43,000
2 43,000 0 43,000
O Malg g4 DA 29 500,000 * 48] 2,000 0 2,000
2 2,000 0 2,000
O R0 Bysls D2IUSY
2,000,000 * 1574 23 30,000 0 30,000
FyssUalX KA (2EMY) 5,500 0 5,500
Al 5,500 0 5,500
201 LEr2 | 5,500 0 5,500
Al 5,500 0 5,500
01 AR 2 2IH] 5,500 0 5,500
O BAX ¥ H1EEY YIS 440 0 440
Al 440 0 440
O YAOIBY 83 DS 1,590 0 1,590
Al 1,590 0 1,690
O #Est HI2AIE 1,040 0 1,040
Al 1,040 0 1,040
O M8 AHIME IS 1,910 0 1,910
Al 1,910 0 1,910
O M =Jel nS 520 0 520
Al 520 0 520
BUDS YEND IH(2IAL) 6,400 0 6,400
Al 6,400 0 6,400
201 Lere | 3,400 0 3,400
Al 3,400 0 3,400
01 ALR 2218 3,400 0 3.400
O 4970 209 Ze T2 DIWAIL 1,140 0 1,140
Al 1,140 0 1,140
O €282 rfls FZALCH 260 0 260
Al 260 0 260
O sot2l 938 o w28 IR 1,000 0 1,000
Al 1,000 0 1,000
O 497 Lausts HAEY Ha 1,000 0 1,000
Al 1,000 0 1,000
307 BI2¢0I 3,000 0 3,000
Al 3,000 0 3,000
02 SIABHALEE 3,000 0 3,000
O Botwol=xp 1,500 0 1,500
Al 1,500 0 1,500
O BUBEAS=XD 1,500 0 1,500
Al 1,500 0 1,500
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2A BECADSEXC
Mu: MSED ISEY A
ool BADSE AE (Et5: 8 &)
SN H - AEA) - NRAY - BES Ofl &t o pIE-Tl HRE2
nEME X 954,770 906, 198 48,572
308 XHXIEHHIE0IA 964,770 906, 198 48,572
08 ME|I2OUEEE 954,770 906, 198 48,572
C & wEddl X3 Z3 132,839,000 132,839 84,267 48,572
NznsiFHdH 24 285,000 260,000 25,000
307 gizto| A 285,000 260,000 25,000
05 SIZtRIE = 285,000 260,000 25,000
O ZznsX|dyH 29 Z& 285,000,000 285,000 260,000 25,000
HERIAL (R ETANRSFEC) 47,466 66,312 A 18,846
JI2ZH(BEZTAI DR FRICH 47,466 66.312 18,846
JEBH(ERXEANDSFRC 47,466 66,312 18,846
201 EF2EH| 16,506 17,616 A1,110
01 Ak 2t2/H| 16,506 17.616 A1,110
O 1. et==8H| 8,510 10,920 2,410
74K JIRMEHN 12 SM2Y I8
Bl 2,000 2,000
ADIEZAID 1,500,000 * 6/12 750 750
BMu=it 2,500,000 * 6/12 1,250 0 1,250
~7 4% JIRHEO 2 EU, SXHI(AD
ETAlD) 4,380 0 4,380
DRE EH 250,000 = 4CH 1,000 0 1,000
HHERE EH 240,000 * 448 « 33| 2,880 0 2,880
SAEX 20,000 * 25€kA 500 0 500
7% PN T2 A2 RES(BY
mE= /) 210 0 210
F2H 20,000 » 1& ~ 68 120 0 120
VAR N 15,000 » 1& » 6& 90 0 90
—Z2H E4 &0 0 3,000 23,000
—gHZelH EU Z& 0 0 4,800 24,800
—DA ®EI| Sl 23 0 0 200 A200
—SEAIEX Z2& 0 0 1,000 41,000
O 5. 2l 5,928 5,376 552
—7 AR JIRONBO 2 HY S| 4,224 0 4,224
- ADEZAIY 8,000 * 13 * 44 « 6B 2,496 0 2,496
CBMDSHEHB HE)
8,000 » 9% « 44! « 6& 1,728 0 1,728
—HETADSSACG I I
23 1,486,000 1,496 4,992 A3,4%6
~SATHAXIRME 2OIU0IE S
&3 208,000 208 384 AL 176
O 6. SXUE 2,068 1,320 748
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SN BE
S
[l

Za: o HEECARSSY)
Rl JIE2HU(EETARESFIY) (Chel @)
SA BB SS(EA) - NRAMY - BES 01l &k o8 plE=LI HmE=ET
—7. 1.4 2|00 B0 U2 XS (EMusH
) 858 0 858
- BADI 143,000 = 10§ » 6 858 0 858
— 2 A & 110,000 = 1O » 118 1,210 1,320 A110
202 o4l 25,560 45,696 220,136
01 = LHGAHI 25,560 45,696 220,136
O 2t s&0jdl 25,560 45,696 A20,136
=715 JIF0HEN 8 HE 2 20
gl 18,480 0 18,480
- ADTEZ Al
20,000 + 138 » 72 « 68 10,920 0 10,920
BMDSU(EAZ M)
20,000 » 9H = 7¢d « 6& 7,560 0 7,560
— BRI @ &3 6,230,000 6,230 37.632 A31,402
—EMNFA Z& 650,000 650 5,376 04,726
—SAMHEXRLEH OO
Z & 200,000 200 2,688 A2,488
203 PR F | 5,400 3,000 2,400
04 2EA2I YR FEHI 5,400 3,000 2,400
O 7.1.% JI7HEH HE 2A2E FR=L
gl 3,900 0 3,900
—ADEZAID 250,000 « 6& 1,500 0 1,500
—HHNEN 400,000 » 6& 2,400 0 2,400
O BEESAMuUSFIC Z3 1,500,000 1,500 3,000 41,500
HPEE(RXZALNKSIY) 2,616 726 1,890
YEXE 2,616 726 1,890
ERAY TE XM HIsHEXTCANKFEE) 2,616 726 1,890
802 gtetzg DIEr 2,616 726 1,890
02 Al - SHIBXZZE &= 2,615 725 1,890
O DIEXIJIAIRL 2 A &AM 1,371 0 1,371
O DIEXJIARL 2EAML OILL 519 0 519
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